
MPG No. 36.5.148 3̄m′ (-31m’ setting) [ Type III, trigonal ] [T tensor]

* Rank 0 tensor. * Rank 1 tensor. * Rank 2 tensor (s). * Rank 2 tensor (a). 0 Txy 0
−Txy 0 0
0 0 0



Txy = M (1)
pz

* Rank 3 tensor (s). * Rank 3 tensor (a). * Rank 4 tensor (sss).
0 0 0 Txxyz 0 0
0 0 0 −Txxyz 0 0
0 0 0 0 0 0

Txxyz −Txxyz 0 0 0 0
0 0 0 0 0 Txxyz

0 0 0 0 Txxyz 0



Txxyz = T
(1)
gb

* Rank 4 tensor (ssa).
0 0 0 Txxyz 0 Txxxy

0 0 0 −Txxyz 0 −Txxxy

0 0 0 0 0 0
−Txxyz Txxyz 0 0 Tyzzx 0

0 0 0 −Tyzzx 0 −Txxyz

−Txxxy Txxxy 0 0 Txxyz 0



Txxyz = 2M
(1)
f2

Txxxy = −2M
(1)
faz + 2M (1)

pz

Tyzzx = −4M
(1)
faz −M (1)

pz

* Rank 4 tensor (aas). * Rank 4 tensor (aaa). 0 Tyzzx 0
−Tyzzx 0 0

0 0 0



Tyzzx = −M (2)
pz

* Rank 4 tensor (sa).
Txxyz 0 Txxxy

−Txxyz 0 Txxxy

0 0 Tzzxy

0 Tyzzx 0
Tyzzx 0 0
0 −Txxyz 0



Txxyz = M
(2)
f2

Txxxy = −M
(2)
faz +M (3)

pz

Tzzxy = 2M
(2)
faz +M (3)

pz + 2M (4)
pz

Tyzzx = −M
(2)
faz +M (4)

pz

1



* Rank 4 tensor (as).Tyzxx −Tyzxx 0 0 Tyzzx 0
0 0 0 Tyzzx 0 −Tyzxx

Txyxx Txyxx Txyzz 0 0 0


Tyzxx = M

(3)
f2

Tyzzx = −M
(3)
faz +M (6)

pz

Txyxx = −M
(3)
faz +M (5)

pz

Txyzz = 2M
(3)
faz +M (5)

pz + 2M (6)
pz

* Rank 4 tensor (s).

0 0 0 Txxyz 0 Txxxy Txxzy 0 Txxyx

0 0 0 −Txxyz 0 −Txxyx −Txxzy 0 −Txxxy

0 0 0 0 0 Tzzxy 0 0 −Tzzxy

Tyzxx −Tyzxx 0 0 Tyzzx 0 0 Tyzxz 0
0 0 0 −Tyzxz 0 Tyzxx −Tyzzx 0 Tyzxx

−Txxxy

2 − Txxyx

2
Txxxy

2 +
Txxyx

2 0 0 Txxzy 0 0 Txxyz 0


Txxyz = 2M

(1)
f2 +M

(2)
f2 + T

(1)
gb

Txxxy = −2M
(1)
faz −M

(2)
faz + 2M (1)

pz +M (3)
pz

Txxzy = 2M
(1)
f2 −M

(2)
f2 + T

(1)
gb

Txxyx = −2M
(1)
faz +M

(2)
faz + 2M (1)

pz −M (3)
pz

Tzzxy = 2M
(2)
faz +M (3)

pz + 2M (4)
pz

Tyzxx = −2M
(1)
f2 + T

(1)
gb

Tyzzx = −4M
(1)
faz −M

(2)
faz −M (1)

pz +M (4)
pz

Tyzxz = −4M
(1)
faz +M

(2)
faz −M (1)

pz −M (4)
pz

* Rank 4 tensor (a).Tyzxx −Tyzxx 0 0 Tyzzx 0 0 Tyzxz 0
0 0 0 Tyzxz 0 −Tyzxx Tyzzx 0 −Tyzxx

Txyxx Txyxx Txyzz 0 0 0 0 0 0


Tyzxx = M

(3)
f2

Tyzzx = −M
(3)
faz −M (2)

pz +M (6)
pz

Tyzxz = −M
(3)
faz +M (2)

pz +M (6)
pz

Txyxx = −M
(3)
faz +M (5)

pz

Txyzz = 2M
(3)
faz +M (5)

pz + 2M (6)
pz

* Rank 4 tensor (t).

0 0 0
0 0 Tyyyz

0 0 0
0 Tyyyz 0
0 0 0
0 0 −Tyyyz

0 0 0
0 −Tyyyz 0
0 0 0

−Tyyyz 0 0


Tyyyz = −T

(1)
gb

2


